SBEEEY ST 1—Riig)—7 (U—18) AKXk

2 zq Amam |EZ = oma HE B
PN 7|
= E1EBAEYST 1— g —4 (U-18) % Hi|2013%F 9 B228 ( B ) 10 A
2 13 : 00 %947 2l i
= \Hﬁ%#ﬁ@@ FE FADELE
BEEREKRFET IR 2|@A|s [FR| | BF BE i3
5 BIES S EEEE: JIURE WE K
F—LAE kick off AEEANR F—L%& (kick off>
B> NEEAR BWEIVER—ILHYST 1—R
%l 8 FERT 0 &
H5&S E% 5&5
X PKE O x
2a—b(FRFIFEN) =5 =5 S mAE IHEN)
iE % :D) = B HE (B & F E | OE (XK
% 3 3 = 5 B % |
N 29 GK |21|BF MF HT 43
K 30 4|EEA K 39 %
AR 32 29| EEH BEA HT &
*x 1|F 6 DF I PN 7
iR 14 ERF AA 7
*  1|#E 16 BYE £F 73 &
1@ 8 MF K 5% )
¥ 5 2[R 77 Hep ket )
by * 2| EE 36 W ft HT 5%
T 3|/N#E 5 { B FiE %1 I
# x ol 1= Fw # = P\ B
F x K ZE B F
KE2H &z 18] GK | GK ER R 45|21
=E mz 34| DF | DF L£H EX o 4
T 4| DF | DF [34[JiltR EEE o
R 99| MF | MF BEE 15 43(29
* ESN 9] MF | FW BEA IHE 4|45
Al 12| FW )
st 3EE 25| FW 4
E=H ET 33[ FW 7
* 2 Bl 71 Fw )
5:’\
5:’\
5:’\
8| 12[ /] #H oa—rg: 6 [/t
ERs Laiil E[H| At wx| F— LG5t [ne|ax|unjze) S [Z K % [Z®#
14 95| G K |9|s8 17 = I OBK | R
7 2| 5] CK ol 2 2 = 5| EAR WmE  |EE
8 3| 5| EiEFK | 5] 1 6 4
2 1| 1] FEFK | of 0 0 %
2 210 P K Jo|o 0 4
e F— LA #/RE T3 (B58] BEF:FYT I~ -TOD/SR—-BEERN -BE X AT LT H-21—kS
2 H|BAmI5T 16 16S
& |16 »>|BABYST 11 118
19 9| BRfmY 57 6 77—6S
= |20 >|BAfMIST 36 CIENERk—36S
49 2| BRfmIST 77 PK
55 2| BRfmI>T 7 9—7S
57 2|BRfmIST 77 7~S8—71S
79 S| BR@mIST 9 PK




